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Question Number : 1 Question Id : 25498943695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The term 'GUI' stands for

Options :

1. * Gnutella Universal Interface

2. % Graphical User Interface



3. % Graphical Uninstall / Install
4. # General Utility Interface

Question Number : 1 Question Id : 25498943695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

GUI ST §I

Options :

1. # ﬂ%T’IT m EETW (Gnutella Universal Interface)

2. ¢ Alithbd Yo} EETW (Graphical User Interface)

3. ® Yfhabdl I / AT (Graphical Uninstall / Install)

4. % S Rd gfeferct S (General Utility Interface)

Question Number : 2 Question Id : 25498943698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Excel 2016, under which menu tab the "Alignment" command group appears?
Options :

1. ® Page Layout

2. ® View

3. # Insert

4. ¥ Home

Question Number : 2 Question Id : 25498943698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Excel 2016 H, "3[ATZTH<" HHIS THE ford U ¢d o 3fid gidl 82

Options :

1. #® Page Layout
2. % View
3. # Insert



4. ¥ Home

Question Number : 3 Question Id : 25498943701 Question Type
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question Number : Yes Is

A physical connector on a computer motherboard that helps connect the chips is known as:

Options :
1. # Ports
2. # Bays
3. % Sockets
4. # Slots

Question Number : 3 Question Id : 25498943701 Question Type
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question Number : Yes Is

HUICR HERaIS TR U [hfofdd dH-idex BT ¢ off [ &1 Siie- & AGE HRdl & 34 ol Hgl offdl 62

Options :

1. % UIcy
2. % 99

3. ¥ Hlhcy
4. % Hicq

Question Number : 4 Question Id : 25498943706 Question Type
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is meant by Information?
Options :

1. ¥ Processed data

2. % Raw data

3. # Any data stored in spreadsheet
4. % Any data stored in database

: MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Number : 4 Question Id : 25498943706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
a1 1 fafead 7 3 o s g2
Options :

1. ¢ Ifed STet

2. #® ddl (Raw) SIcl

3. % QSR W FUEId s Hi STl
4. % o199 § GUd B8 i St

Question Number : 5 Question Id : 25498943763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The touchscreen is device for user interaction with a computer.
Options :

1. # an input only

2. # an output only

3. % both input and output

4. ¥ neither input nor output

Question Number : 5 Question Id : 25498943763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

cguhH, [l T gRI G YR A SRmRA HA aret feasa gl
Options :

|. % dad 31Yc

2. % PHad H3CYC

3. ¢ G 39Y¢ 3R 313cYe

4. % Q1 39Ye AR T & 3M3cge




Question Number : 6 Question Id : 25498943765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
USB Stands for:

Options :

1. # Universal Synchronized Bit

2. ¥ Universal Serial Bus

3. % Universal Socket Bus

4. % Unique Synchronized Bit

Question Number : 6 Question Id : 25498943765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

USB &1 quf &1 fAgfafea 7 9 g2

Options :

1. ® qﬁaﬁa RipIHESs fde (Universal Synchronized Bit)
2. ¥ m TRTe 99 (Universal Serial Bus)

3. % ‘-j\lr'\'ld{-ir d Tldhe &Y (Universal Socket Bus)

4. % gH®H RighIFT3es [T (Unique Synchronized Bit)

Question Number : 7 Question Id : 25498943696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Word processors, electronic spreadsheets and database systems are all grouped under which category?
Options :

1. # Browsing Programs

2. % Operating System

3. ¥ Application Software

4. ® Data and Information

Question Number : 7 Question Id : 25498943696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

IS TR, 3adce Sstficy, ey Rrey, T+t {5y it & dad Tga< &7
Options :

1. % SR U

2. % SHIqRAeT ReeH

3. ¢ TWIhRH HIUCIAR

4. % 32T 3R G

Question Number : 8 Question Id : 25498943699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is handheld, book-sized device that displays texts and graphics? This device is used to view contents downloaded from
the web, read online newspapers, magazines and books.

Options :

1. * Stylus

2. ¥ E-book reader

3. # Handwriting recognition software
4. % Qutput

Question Number : 8 Question Id : 25498943699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafeiad & @ & g1y § off o1 aTelt [ae-3hR &1 f3d1sy g Sl cRed 3R Ufthad ! faardt 82 39 ¥ SreAdrs &1 718 il &t
ST & foTU 9 IUSHRT T ITANT fodT i1l &, T SHi-as- AR U, URASE 3R Y UGl o 9! & |

Options :

1. # XedY

2. ¥ 3-g@ e

3. % g YBRIT AieddR

4. % 33cYc

Question Number : 9 Question Id : 25498943702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following programming languages can be used for creating dynamic web pages?
Options :

1. # LISP

2.% C

3. % JavaScript

4. ¥ FORTRAN

Question Number : 9 Question Id : 25498943702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tfaeid Srie) 39 O §9 & fore Fgfafea & @ o It urnfi yrr &1 S fear o abdr 82
Options :

1. % LISP

2.% C

3. % JavaScript

4. # FORTRAN

Question Number : 10 Question Id : 25498943712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
and CDs have generally replaced the phonograph record for playing music.
Options :
1. ¥ Tape cartridges
2. ® Printer cartridges
3. ¥ ROM
4. ¥ RAM

Question Number : 10 Question Id : 25498943712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3R WIS (CD) 7 IR R Tiftd Ta & fore wHRTE Reis & ufaifid fear g



Options :

1. ¢ Y HIeo

2. % e e

3. % 8 3 AART (ROM)
4. % YU TR AERT (RAM)

Question Number : 11 Question Id : 25498943762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Biometrics sensors are used to identify user’s
Options :

1. ® image

2. ¥ physical and behavioral attributes

3. # Jogin and password

4. ® encrypted information

Question Number : 11 Question Id : 25498943762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IO IR HT ITAN, STHA b P Ugd H & [o7d [ SIrar g
Options :

1. % Bfd

2. ¢ IRINF (@) 3R WHITSY (Ad8TR®) faRivarsii

3. % AT 3R UGS

4. % TfPHPS STHIATA (STHBRY)

Question Number : 12 Question Id : 25498943764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Common plane LCD is the one which is used to display same information continuously. Identify the display where common plane LCD is NOT
used.

Options :



1. ¥ Watch
2. % Handheld games
3. ¥ PC display

4. % Microwaves

Question Number : 12 Question Id : 25498943764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

BT O TS, I8 B O T &) Te bt FAReR TefRia (et o= & forg Suaiv & offs ol 81 39 fot 1 uge b forad i
@ T ). &1 IuahT A8 fhar S g

Options :

1. % g9 (48
2. % g3ee TH
3. ¢ 0191 few
4. % OEghlad

Question Number : 13 Question Id : 25498943749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What will be the output for the function Rows(D8) in an OpenOffice Calc?
Options :

1.9 1

2.%2

3.%3

4. % 4

Question Number : 13 Question Id : 25498943749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3 3T e (OpenOftice Calc) T R Rows(D8) I T HT3cYc BT
Options :



1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 14 Question Id : 25498943767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is a Unicode?

Options :

1. # Standard font type

2. % Computer hardware

3. ¥ Character encoding system

4. # Keyboard layout

Question Number : 14 Question Id : 25498943767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
JAPIS 1 gIdl 82

Options :

1. % WSS WIT UHR

2. % HULR TSI

3. ¥ PR THITST ReH

4. % DI AT

Question Number : 15 Question Id : 25498943768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nearly all PC sound cards use a(n) digital sound resolution.
Options :

1. ¥ 16-bit



2. * 8-bit
3. # 32-bit
4. *= 24-bit

Question Number : 15 Question Id : 25498943768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT GH PC TS BT1S A T feforea ads Reliegm &1 IuanT forar ST g |
Options :

1. ¢ 16-fac

2. % gfdc

3. % 32-fq¢

4. % 24.f9¢

Question Number : 16 Question Id : 25498943722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following virus stays permanently in the primary memory (RAM), becomes active when you start the computer and corrupts the
files and programs running on the computer?

Options :

1. #* Boot

2. # Macro
3. % Resident

4. % Executable

Question Number : 16 Question Id : 25498943722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

79 & ¥ S1H-91 IRy Uil AR (RAM) & R U § 6T €, 3R dd Afhd 81 SIdT § ofd 81 $uex WIE dd g AR U W Id
R BT 3R Ul &1 gid (RY) R a1 82

Options :
1. % dc (Boot)




2. % Tl (Macro)
3. v IS
4. % TRIRICTd

Question Number : 17 Question Id : 25498943730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
GIF stands for:

Options :

1. # Graphical Interchange Form

2. ¥ Graphics Interchange Format

3. # Graph Interchange Form

4. % General Interchange Formation

Question Number : 17 Question Id : 25498943730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

GIF %1 qUREY &1 87

Options :

1. # Graphical Interchange Form (‘/ﬂﬁﬂm g tﬁﬁ)
2. ¥ Graphics Interchange Format (‘;ITmTCR:[ gl U'T\Iﬁf)

3. % Graph Interchange Form (UT% Scol BiH)
4. ® General Interchange Formation (ST Rd ‘.%CQ'QI'\YI lJPIJ:I‘"-‘QI"I)

Question Number : 18 Question Id : 25498943735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a non-impact printer?
Options :

1. ® Dot matrix

2. % Daisy wheel



3. # Line
4. ¥ Laser

Question Number : 18 Question Id : 25498943735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
9 & 4 D 1 T -39 e 52
Options :

1. % gic Afday

2. % Sofl &id

3. % g

4. ¥ AR

Question Number : 19 Question Id : 25498943736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of system software?
Options :

1. % Payroll System

2. % Database Management System

3. % Word Processor

4. % Linux Operating System

Question Number : 19 Question Id : 25498943736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5 & O D19 91 Ried S dTR &1 T IaTel 52
Options :

1. % U Ren

2. % STay AoHe Ren

3. % g8 URRR




4. ¢ To g TR Ren

Question Number : 20 Question Id : 25498943739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A modem helps computer to send or receive information over line.
Options :

1. ¥ a telephone

2. # a magnetic

3. * an electric

4. # asimple

Question Number : 20 Question Id : 25498943739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TG ASHASYR B 13 R YT Ho- a7 Ut = § GG PRl o
Options :

1. ¥ CAltIA

2. % g

3. % goifaed

4. % {qIYRU

Question Number : 21 Question Id : 25498943750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the keyboard keys stick or certain keys become unresponsive, then
Options :

1. ¥ dust and dirt are likely causes

2. # change keyboard layout preferences

3. % press Num Lock key

4. % press Shift and Ctrl keys



Question Number : 21 Question Id : 25498943750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A I AFTRTH RIS ISHARA
Options :

1. ¢ Y& 3R gt JuTfad HROT 5

2. # HISIS ASMNIC YA daal

3. % qH-CIDb PI DI GAY

4. % fUe 3R dold B B aaly

Question Number : 22 Question Id : 25498943705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With reference to types of networks, CAN stands for:
Options :

1. ¥ Campus Area Network

2. % Cable Area Network

3. # Communication Area Network

4. ¥ Common Area Network

Question Number : 22 Question Id : 25498943705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Jegd & UHRI & JoH 7 T, (CAN) &1 fawaiRd =g g2
Options :

1. ¢ U TRAT Acdd (Campus Area Network)

2. % Had TNUT Aedd (Cable Area Network)

3. ® Wﬁw ufaT Aedd (Communication Area Network)

4. % HTAF URAT 4D (Common Area Network)




Question Number : 23 Question Id : 25498943709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is an example of access control system.
Options :
1. # Wi-Fi
2. ¥ Use of a password
3. * Hotspot
4. % Modem

Question Number : 23 Question Id : 25498943709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR S ReH 1 U6 IR0 B |

Options :

1. % 9B-Bls

Question Number : 24 Question Id : 25498943710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A web browser may the access to a website or at least warn that the user certificate of the website is expired.
Options :

1. ¥ deny

2. % intrude

3. # allow

4. % hack

Question Number : 24 Question Id : 25498943710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

o fohail qeTS e & THTOO &1 HT HTHT JHTW 81 Sl § <) U 99 ISR 34 davIge o TRy &l I HH q HH GoR Dl
JdTa-1 ¢ g g |

Options :

1. ¢ T B Gohal §

2. % GIEY HR ThdT o

3. % AN S gpaT g

4. % 3H PR IPHAl g

Question Number : 25 Question Id : 25498943711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save a Microsoft Excel 2019 Open XML workbook and spreadsheet?
Options :

1. # xls.ox

2. % Xxls

3. % xlsx

4, % oxls

Question Number : 25 Question Id : 25498943711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 Open XML T g 3R BISIC &I U A & [T DI F WIsd BiHe BT SUINT [T Sl 82

Options :

1. % xls.ox
2. % Xls
3. % Xxlsx

4, % oxls

Question Number : 26 Question Id : 25498943721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is best suited for use with a paper of large size and for a complex drawing in a computer-aided design (CAD)?
Options :

1. # Dot matrix printer

2. ¥ Plotter

3. % Laser printer

4. # Inkjet printer

Question Number : 26 Question Id : 25498943721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HIR TS fSTTET (CAD) H T3 AMMHR S IR AT vicd RAT S ST H fw  Iraifiies Iugad 3
Options :

1. # gfe Afeay fifex

2. ¥ W

3. % AR e}

4. % gapvlc fiick

Question Number : 27 Question Id : 25498943731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TIFF stands for:

Options :

1. # Tinted Image File Format

2. ¥ Tagged Image File Format

3. # Tar Image File Format

4. % Threshold Image File Format

Question Number : 27 Question Id : 25498943731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TIFF &1 quRey 31 82



Options :

1. ® Tinted Image File Format (f¢<8 UV BI3d Bidc)

2. % Tagged Image File Format (E‘S S BhIsd lab\IT-TC)

3. % Tar Image File Format (CR A B q’TIVﬁ_Cr)

4. # Threshold Image File Format (ﬂaﬁc—s’ Eflﬁ plgd U’T\Iﬁ_{)

Question Number : 28 Question Id : 25498943713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The per-minute speed of a commercial laser printer is:
Options :

1. # 200 pages

2. % 300 pages

3. % 500 pages

4. ¥ 1000 pages

Question Number : 28 Question Id : 25498943713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ARG Ao fHiex &1 i fd firee fraeit gt g2
Options :

1. # 20078

2. % 30078

3. % 500U

4.+ 1000 Uy

Question Number : 29 Question Id : 25498943751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In which of the three file formats are desktop icons found?
Options :



1. # .co, .exe and .jpeg
2. ¥ jco, .exe and .dll

3. % dll, .ico and .docx

4. % (dIl, .jpeg and .docx

Question Number : 29 Question Id : 25498943751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SWHCM 3H1SH 9 | ¥ 1 1 rsd Bive & UL offd 82
Options :

1. # .ico, .exe 3R Jpeg

2. % ico, .exe 3R dll

3. % dll, ico 3R .docx

4. % (dIl, .jpeg 3R .docx

Question Number : 30 Question Id : 25498943752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Resource management can be carried out by an operating system via:
Options :

1. # time division multiplexing

2. % gpace division multiplexing

3. ¥ both time and space division multiplexing

4. # frequency division multiplexing

Question Number : 30 Question Id : 25498943752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
& HeH  SHTRIET R o gR1 AR A-wHe fosar S gl 3|

Options :

1. # ¢13H fSdioH Ace IwifadT



2. % WY ST Hee @i
3. ¢ TT3H 3R WY fSdIo Hee IifadT 3Hw
4. % flhep-u fSdIo Hee @iTga

Question Number : 31 Question Id : 25498943697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does the abbreviation “WWW?’ stand for?
Options :

1. ¥ World Wide Web

2. % Wide Wipe Web

3. # World Width Web

4. % World With Web

Question Number : 31 Question Id : 25498943697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
R AT 'WwW W' &1 g1 7Y T 82
Options :

1. ¢ 9T A3 9§ (World Wide Web)
2. % JI28 913U dd (Wide Wipe Web)
3. % g0s fagY A9 (World Width Web)
4. % 93 f3Y 99 (World With Web)

Question Number : 32 Question Id : 25498943700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A webpage that serves as the starting point of a website is called as:
Options :

1. ¥ Home page

2. % Web log



3. % Virtual page
4. % Static page

Question Number : 32 Question Id : 25498943700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fep et AT e BT Ul UY STH I 1 HEdldl 67
Options :

1. ¢ g Od (Home page)

2. % & AT (Web log)

3. % EF;I&IFT U (Virtual page)

4. % LD U (Static page)

Question Number : 33 Question Id : 25498943703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

By using which menu tab in MS Word 2016 you can insert table of contents in a document?
Options :

1. # INSERT

2. % VIEW

3. ¥ REFERENCES

4. % HOME

Question Number : 33 Question Id : 25498943703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%4s Word 2016 T 370 FEIRIT T ¥ ford B ¢d &1 SUANT b (il GRSl § WA &1 lfeidhl (Cad 31t dHecd) ARferd o qdhd
¥

Options :

1. # INSERT

2. % VIEW



3. ¥ REFERENCES
4. % HOME

Question Number : 34 Question Id : 25498943704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the key combination to copy a picture of the selected window to the Clipboard in MS PowerPoint?
Options :

1. # PRINT SCREEN

2. % ALT+PRINT SCREEN

3. # CTRL+ PRINT SCREEN

4. # SHIFT+ PRINT SCREEN

Question Number : 34 Question Id : 25498943704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS PowerPointﬁWﬁW%ﬁWﬁWW%WﬁWW%?
Options :

1. * PRINT SCREEN

2. % ALT+PRINT SCREEN

3. ¥ CTRL+ PRINT SCREEN

4. % SHIFT+ PRINT SCREEN

Question Number : 35 Question Id : 25498943720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Press key/key combination in MS Word to create a new paragraph.
Options :

1. ¥ ENTER

2. % TAB

3. ¥ ALT+CTRL

4. % ESC



Question Number : 35 Question Id : 25498943720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS 47 3¢ (RT) § & o1 MS Word & ott/groll T gand |
Options :

1. ¥ ENTER

2. % TAB

3. % ALT+CTRL

4. % ESC

Question Number : 36 Question Id : 25498943723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When AutoCorrect makes an unwanted correction, you can undo it by pressing:
Options :

1. ¥ CTRL+Z

2. % CTRL+R

3. % CTRL+U

4. ¥ CTRL+V

Question Number : 36 Question Id : 25498943723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS el P U SHaifed JUR BT &, f 31T o TaIdhR gaad &R Jad g7
Options :

1. ¥ CTRL+Z

2. % CTRL+R

3. % CTRL+U

4. % CTRL+V



Question Number : 37 Question Id : 25498943724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is a part of the Review menu tab in MS Word 2016?
Options :

1. ¥ Thesaurus

2. # Orientation

3. % Mail Merge

4. % Page Break

Question Number : 37 Question Id : 25498943724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 & fAafifad & @ & ot wHis ey 77 ¢v & qfiferd gt &2
Options :

1. ¢ W(Thesaurus)

2. % 3fikUCTH (Orientation)
3. % ﬁ?‘frﬁf(]\/lail Merge)

4. % U §F (Page Break)

Question Number : 38 Question Id : 25498943754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the shortcut key to open an existing document in MS Word?
Options :

1. ¥ Shift+O

2. ¥ CTRL+O

3. ¥ ALT+O

4. % Capslock+O

Question Number : 38 Question Id : 25498943754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

MS Word & {5l HiS[aT GXTdel & Wia- o fo1g Wicdhe Foil a1 62
Options :

1. # Shift+O

2. % CTRL+O

3. % ALT+O

4. ® Capslock+O

Question Number : 39 Question Id : 25498943756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will be required to save your data in .docx format?
Options :

1. ¥ A computer with MS Word installed.

2. ® A computer with Microsoft PowerPoint installed.

3. # A computer with WordPad installed.

4. % A computer with Notepad installed

Question Number : 39 Question Id : 25498943756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

30 STT DI .docx URSY H Heold o fo1T A # T {6 o1 sira=gesan gt
Options :

1. ¢ MS Word S¥Td fohdl §31T R |

2. % Microsoft PowerPoint SETdl fhdl Gl hZ[cR |

3. % Wordpad S¥Td {1 g3 e |

4. % Notepad STTd fhdT gl R |

Question Number : 40 Question Id : 25498943707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
allows users without a smartphone or data/Internet connection to use mobile banking through the *99# code.



Options :
1. # USAA
2. % USBB
3. % USS
4. % USSD

Question Number : 40 Question Id : 25498943707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
, fomT S a1 Ser/Eerae HAARM & STARTHAIST BT *99# IS & HIeqH I W3 SfHTT BT FUUNT B BI U ST 8 |
Options :
1. ® JUH.UT (USAA)
2. % g UYL dl (USBB)
3. % gUY.TY (USS)
4. ¥ g UYL Sl (USSD)

Question Number : 41 Question Id : 25498943708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Use when you have two or more data series and you want to emphasize the contributions to the whole, especially if the total is the same
for each category.

Options :

1. # pie

2. ¥ 100% stacked column
3. % area

4. % radar

Question Number : 41 Question Id : 25498943708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3{T9d U &1 7 $fd STeT /el 84 W, 3R af¢ 3y quf & AhreHi R SR &1 918d 8, faRivas afe ude ot & fog g s g1 a
BTSN IR B |



Options :

1. % T

2. ¢ 100% TP BIaH
3. % TR

4. % IS8R

Question Number : 42 Question Id : 25498943717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a single word where all the letters are in lowercase has been selected, then which of the following change case options when applied
provide the same output?

a) Upper case

b) Lower case

c¢) Capitalize each word
d) Sentence case

Options :
1. % a,d
2. % a,c
3. % b, c
4. ¢, d

Question Number : 42 Question Id : 25498943717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

O T eg; forad Tt 3eR ARG &, BT 99 fodT ST &, dt i & F DI 1 3 39 fddhed a3 IR T 9 33eye e g2

a) 3R B Y

b) AISR BT

¢) pficase sads
d) Jeg Hg

Options :

1. % a, d




2. % a ¢
3. % b, c
4. ¢, d

Question Number : 43 Question Id : 25498943719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to insert page break in a Word document?
Options :

1. # Enter

2. ¥ Ctrl+Enter

3. # Alt+Enter

4. ® Ctrl+Tab

Question Number : 43 Question Id : 25498943719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Word T&Taw # g8 farm (U9 o) Qiiferd 3 & oW Sials Micwme Fufafad # 9 S arg?
Options :

1. # Enter

2. ¥ Ctrl+Enter

3. % Alt+Enter

4. % Ctrl+Tab

Question Number : 44 Question Id : 25498943725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a default font style in MS Word 20107
Options :

1. ¥ Calibri

2. ® Arial

3. % Times New Roman



4. % Cambria

Question Number : 44 Question Id : 25498943725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2010 & FHffRad & § ®H-I ta fShiee Bie el 82
Options :

1. ¢ BIRSH (Calibri)

2. % TRYA (Arial)

3. % CIg™ qﬁm (Times New Roman)

4. % BT (Cambria)

Question Number : 45 Question Id : 25498943726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following alignments expands a paragraph to fill the gap between the left and right margins in MS Word?
Options :

1. % Center

2. ¥ Justify

3. % Left

4. % Right

Question Number : 45 Question Id : 25498943726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word # FHRfaRad & & &1 I1 TRAUT (3/@gae) 14 3R a8 SR (AIfol) & A & 3faR &1 HRd §U IREH &I fadR &R <al 82
Options :

1. # @?T(Center)

2. ¢ SIS (Justify)

3. % QUT (Left)

4. % 13T (Right)



Question Number : 46 Question Id : 25498943732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

By default, the files downloaded from internet are stored in folder.
Options :

1. % Recycle Bin

2. ¥ Downloads

3. ¥ Documents

4. ¥ My Computer

Question Number : 46 Question Id : 25498943732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

geXC U SISAIS Bl ofF Al B,  Thicex H aq: Muid ©0 ¥ GUgid &1 ot €|
Options :

1. % farefed faq (Recycle bin)

2. ¥ m@(Downloads)

3. % @fl’aﬂﬂ? (Documents)

4. % A S (My Computer)

Question Number : 47 Question Id : 25498943753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

PivotTable field names are formed from the source data's:
Options :

1. # Sheet tab names

2. % Column titles

3. % Row titles

4. # PivotChart report

Question Number : 47 Question Id : 25498943753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fige T (PivotTable) HIcS AT WId Sl & J I B
Options :

1. % e g aH (Sheet tab names)

2. ¢ HicH clsed (Column titles)

3. % Ufaq clgcd (Row titles)

4. % fige =ré Ruré (PivotChart report)

Question Number : 48 Question Id : 25498943755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In default page orientation of MS Word, the width of a page is than the height of the page.
Options :

1. ¥ less

2. ® greater

3. % equal

4. ¥ greater than or equal to

Question Number : 48 Question Id : 25498943755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word & ad: FUifRd (FSWhice) 0 SiNECTA A gE Sl dIes, IS I Sas W/ Bl ol
Options :

1. ¥ ®H

2. % 3ffYep

3. ¥ ISR

4. % 3ffeh I IHD SRISR

Question Number : 49 Question Id : 25498943718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following spacing is created by pressing Ctrl+2 in MS Word?
Options :

1. #* 0.5 line spacing

2. % 1.5 line spacing

3. # Single line spacing

4. ¥ Double line spacing

Question Number : 49 Question Id : 25498943718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word H, F99 & 9 & 1 WRIT Ctri+2 F1 gfaffia sxar g2
Options :

1. % 0.5 ST QR

2. % 1.5 S QR

3. % RYT7eT TS W

4. ¥ S ATST WRAT

Question Number : 50 Question Id : 25498943737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which key combination is used to decrease the size of selected text by one point in MS Word?
Options :

1. ¥ CTRL+]

2. % CTRLH

3. % CTRL+SHIFT+{

4. % CTRL+SHIFT+}

Question Number : 50 Question Id : 25498943737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word H, [} Tafd UTe &1 3R Th Uige ¥ &H - & foIE ford droll Taioi o1 UaIT e SiraT g2




Options :

1. ¥ CTRL+]

2. % CTRL+|

3. % CTRL+SHIFT+{
4. % CTRL+SHIFT+}

Question Number : 51 Question Id : 25498943738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reetu wants to send a common letter to all her friends. Which of the following features of MS Word would be useful to Ritu?
Options :

1. ¥ Mail Merge

2. % Bibliography

3. % Hyphenation

4. # Drop Cap

Question Number : 51 Question Id : 25498943738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g 3 Tt ST Y T 1 U W A8l 8 1 MS Word &1 Fgfafad & § o T faviear g & foe Iuaitt gnfte
Options :

1. ¢ Ud 7ol (Mail Merge)

2. % qIEffe”AUTET (Bibliography)

3. % gRAWHARA (Hyphenation)

4, % Eﬁq%q (Drop cap)

Question Number : 52 Question Id : 25498943769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1s the continuous transmission of audio or video files from a server to a client.
Options :



1. ¥ Streaming
2. * Crawling
3. % Browsing
4. # Uploading

Question Number : 52 Question Id : 25498943769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

foreft ok © TS e a SHifsal a1 IS igell HI FRARUGRUT BT gl
Options :

1. ¥ Ejﬁl"’[ (Streaming)

2. % P (Crawling)

3. % SO (Browsing)

4. % UAET (Uploading)

READING COMPREHENSION

Section Id : 2549895050
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895091
Question Shuffling Allowed : Yes

Question Id : 25498943743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Happiness

A crow lived in the forest and was absolutely satisfied with life. But one day he saw a swan. “This swan is so white,” he thought, “and I am so
black. This swan must be the happiest bird in the world.”

He expressed his thoughts to the swan. “Actually,” the swan replied, “I was feeling that I was the happiest bird around until I saw a parrot, which
has two colours. I now think the parrot is the happiest bird in creation.”

The crow then approached the parrot. The parrot explained, “I lived a very happy life until I saw a peacock. I have only two colours, but the
peacock has multiple colours.”

The crow then visited a peacock in the zoo and saw that hundreds of people had gathered to see him. After the people had left, the crow
approached the peacock. “Dear peacock,” the crow said, “you are so beautiful. Every day thousands of people come to see you. When people see
me, they immediately shoo me away. I think you are the happiest bird on the planet.”

The peacock replied, “I always thought that I was the most beautiful and happiest bird on the planet. But because of my beauty, I am entrapped in
this zoo. I have examined the zoo very carefully, and I have realized that the crow is the only bird not kept in a cage. So for the past few days I
have been thinking that if I were a crow, I could happily roam everywhere.”

Sub questions

Question Number : 53 Question Id : 25498943744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The crow was happy with himself till he saw a
Options :

1. #* parrot

2. % swan

3. % peacock

4. % crow

Question Number : 54 Question Id : 25498943745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Why was the peacock unhappy?



Options :

1. ¥ He was caged in the zoo.

2. # He had multi-coloured feathers.

3. # He did not like the people who came to see him.
4. ® He could roam freely.

Question Number : 55 Question Id : 25498943746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which statement is NOT true about the birds in the story?
Options :

1. #® The swan thought that the parrot was more beautiful.
2. ® The parrot felt that the peacock had more colours.

3. # The crow was jealous of the swan’s white colour.

4. ¥ The peacock said that crow was the most beautiful bird.

Question Number : 56 Question Id : 25498943747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A crow is not kept in a cage because
Options :

1. # it is an unhappy bird

2. ¥ it is not good looking

3. % it lives in the forest

4. ® it roams happily everywhere

Question Number : 57 Question Id : 25498943748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What according to the writer is important for happiness?
Options :

1. ¥ Having one’s freedom

2. ® Having a colourful body



3. # Having a white body

4. # Having shades of green

Question Id : 25498943743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498943744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HIAT YA S T G U7 aHt I Th |
Options :

1. % drdm



2.V 89
3. % OR
4. % B3

Question Number : 54 Question Id : 25498943745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AR gt & Y1

Options :

1. ¢ gg fafsarer # fosk # &g U7l

2. % ISP U dgd I & 49 |

3. % I T 3T ANT, I U¥iE a1 3
4. % 98 Wad U Y g bl UT|

Question Number : 55 Question Id : 25498943746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FHer § ufern & TR & S 1 HYUT I T8l 72
Options :

1. % g9 A e fob diar i ez ATl

2. % dId DI T fob AR o U W7 3ffeep 3|

3. % PId DI §H &b ba T 51 1|

4. ¢ AR A gl fob PiaT T GagRd veft 41|

Question Number : 56 Question Id : 25498943747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

PO P TR AT @ AT Fifd
Options :

1. % g8 U guI ua g

2. ¥ I5 3BT o fe@dl &

3. % g ST HIgdl §




4. % g R o8 G A gAdT 8

Question Number : 57 Question Id : 25498943748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TGP F TR GRI & forg or wgaguf 82

Options :

1. ¢ WA g

2. % T MR

3. % Yhg WK

4. % TRRGAGMT

QUANTITATIVE APTITUDE

Section Id : 2549895051
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895092
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498943733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of question mark (?) in the following question?
(Note: You are not required to calculate the exact value)



55.003 x 54.998 + 5.001 =?
Options :

1. % 3,500

2. % 3,630

3. % 2,540

4.+ 3,030

Question Number : 58 Question Id : 25498943733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frrafof@a gea & 9o e (?) & T W HFATA AT 47 = =ge? (e Tée A H
IUTAT FET FEAT B)

55.003 X 54.998 + 5.001 =7
Options :
| % 3,500

, % 3,630
, % 2,540

4 v 3,030

Question Number : 59 Question Id : 25498943758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following question?



460 x 15-5%x20="7
Options :

1. % 92000

2. % 4600

3. % 138700

4. ¥ 6800

Question Number : 59 Question Id : 25498943758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fr=faf@a ea & g fREa () & T 9T i O gEar [

460 x 15 -5 x 20 = 7
Options :

1. % 92000

2. % 4600

3. % 138700

4. % 6800

Question Number : 60 Question Id : 25498943734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The compound interest earned on a sum in 3 years at 15% per annum compounded annually is 36,500.52. What is the sum?
Options :

1. ¥ 312,480

2. % 310,500

3. % 314,800

4. % 313,620

Question Number : 60 Question Id : 25498943734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TP YRIRT TR 15% AT B aX A 3 T &1 dItis U § Tehgig oI aTel SIS 26500.52 TG Bl & | =R fohe 1 82
Options :

1. ¥ 12,480

2. % 310,500

3. % 314,800

4. % 313,620

Question Number : 61 Question Id : 25498943761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1

= then the value of secf + sin@ is:
W

If cosecl — cotf =

Options :

2++/3

| % 2

3—|-\."§

Question Number : 61 Question Id : 25498943761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



| i

3T cosecld — cotd = — @I, @ sech + sinf T ATA FAT grEM?

.l

Options :
2++/3
1% 2

3++/3
) % 2

4++/3
3.4 2

3442
4.8 2

Question Number : 62 Question Id : 25498943759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In how many ways can the letters of word ‘VISITING’ be rearranged?
Options :

1. ¥ 6,720

2. % 5720

3. % 720

4. % 7620

Question Number : 62 Question Id : 25498943759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2o VISITING & 3R & fhdelt TRg ¥ Jaeiafead fhar o1 #har 872



Options :
| v 6,720

, % 5,720

3 % 720

, % 7,620

Question Number : 63 Question Id : 25498943760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Three horses are tethered at three corners of a triangular plot having sides 20 m,30 m, 40 m with ropes of 7 m length each. Find the area of this
plot which can be grazed by the horse.

Options :

1. ¥ 77 m?
2. % 67 m?
3. % 87 m?
4. % 57 m?

Question Number : 63 Question Id : 25498943760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IF OTSl 1 T AYSTHR YE@S & diF B! IR 1T T 8, fSRI®T YoME 20 m,30 m, 40 m € 3R TS B 7 m TGS ! AT I el T
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Options :

1. ¥ 77 m?

2. % 67m?

3. % 87 m?



4, % 57 m?
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Question Number : 64 Question Id : 25498943729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a certain code language, Z is coded as 26, and NET is coded as 39. How will NUT be coded in that language?

Options :
1. % 50
2. % 53
3.¥ 55
4. % 56

Question Number : 64 Question Id : 25498943729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :



1. # 50
2. % 53
3.¥55
4. % 56

Question Number : 65 Question Id : 25498943757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the option that is most appropriately related to the third word in the same way as the second word is related to the first word.

Knife : Cut :: Axe : ?
Options :

1. # Carve

2. % Chop

3. % Slice

4. # Scoop

Question Number : 65 Question Id : 25498943757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1P : DI (BC) = peglal : ?
Options :

1. % dRIRMl

2.« 4

3. % LI

4. % WU

Question Number : 66 Question Id : 25498943716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



'Amaranthus' is related to "Weed' in the same way as 'Bordeaux’ is related to '
Options :

1. # Insecticide

2. % Weedicide

3. % Germicide

4. ¥ Fungicide

Question Number : 66 Question Id : 25498943716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® PHICARID

2. % TRUJIRARA

3. % PHICIUMARI

4. HABAI

Question Number : 67 Question Id : 25498943740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the option with the most appropriate description about the given set of words.

Factotum, Maid, Butler

Options :

1. # They are employed in restaurants.

2. # They are persons who look after children.
3. % They are different types of servants.

4. ¥ They are members of the household.

Question Number : 67 Question Id : 25498943740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % I ERI A SH PRA 3
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4. % WP ICH T

Question Number : 68 Question Id : 25498943741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as the second number is related to the first number.

7584 : 5362 :: 4673 : ?
Options :
1. ¥ 2367
2. % 2451
3. % 2531
4. % 2671

Question Number : 68 Question Id : 25498943741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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7584 : 5362 :: 4673 : ?
Options :
1. # 2367
2. % 2451
3. % 2531
4. % 2671




Question Number : 69 Question Id : 25498943742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.

Options :

1. # Galileo

2. % Copernicus
3. % Columbus
4. * Bhaskara

Question Number : 69 Question Id : 25498943742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Teifery

2. ¥ DIRMADY

3. ¥ Pldad

4, % YN
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Sub-Section Number : 1
Sub-Section Id : 2549895094
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498943728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which game is Brookland (England) associated with?
Options :

1. #* Hockey

2. % Golf

3. ¥ Football

4. * Tennis

Question Number : 70 Question Id : 25498943728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ghas (3as) fhy Wa I Hefdd g2
Options :

1. % gl

2. % Tcth

3. ¥ Pedid

4. % Y

Question Number : 71 Question Id : 25498943766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Where is the National Rice Research Institute (NRRI) located?
Options :

1. * Bengaluru

2. % Kanpur

3. # Coimbatore



4. % Cuttack

Question Number : 71 Question Id : 25498943766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

RIS ATae SITHYT I (NRRI) 51 A 52
Options :

1. % dTe

2. % DAY

3. % PIYIR

4. & hch

Question Number : 72 Question Id : 25498943714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which sector of the Indian economy had the highest contribution to GDP in FY 2020-21 as per the Economic Survey of India?
Options :

1. # Industry and services

2. % Contact-based services

3. ¥ Agriculture

4. % Manufacturing

Question Number : 72 Question Id : 25498943714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % JENT 3R Jamg

2. % HUoh AIYTRT YaTq

3.V BN

4. % fafmior




Question Number : 73 Question Id : 25498943727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Direct exposure to which of the two chemicals in hazardous waste can cause death?
Options :

1. # Mercury and arsenic

2. # Cyanide and sulphur

3. # Sulphur and arsenic

4. ¥ Mercury and cyanide

Question Number : 73 Question Id : 25498943727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ORI (AR 3R e

2. % FIEES 3R e

3. % R 3R IAfw

4. ¥ URT (HREE) 3IR W8S

Question Number : 74 Question Id : 25498943715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match the items from List-I to those in List-II and select the correct answer.

List-I (Events) List-II (Persons)

A. Dandi March 1. Surya Sen

B. Home Rule Movement 2. Bal Gangadhar Tilak
C. Chittagong Armoury Raid 3. Muzaffar Ahmed

D. Kanpur Conspiracy Case 4. Gandhiji

Options :



1. # A-3,B-2,C-1,D-4
2. % A-3,B-1,C-2,D-4
3.¥ A-4,B-2,C-1,D-3
4. % A-4,B-1,C-2,D-3

Question Number : 74 Question Id : 25498943715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # A-3,B-2,C-1,D-4
2. % A-3,B-1,C-2,D-4
3.¥ A-4,B-2,C-1,D-3
4. ¥ A-4 B-1,C-2,D-3

Question Number : 75 Question Id : 25498943770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
is the most abundant protein in animal world.
Options :
1. # Codeine
2. % Trypsin
3. % Collagen
4. % Abrin



Question Number : 75 Question Id : 25498943770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % BISH
2. % fefRm
3. ¢ Blcio
4. % s
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Section Number : 1
Section type : Typing Test
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Number of Questions : 1
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Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895095
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498943772 Question Type : TYPING TEST Display Question Number : Yes

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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English Typing Test

Section Id : 2549895055
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
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Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498943771 Question Type : TYPING TEST Display Question Number : Yes

Cancer is one of the top ten causes of death in India. Cancer can indeed be a nightmare. But the stories of people who have fought cancer
and have survived give hope. Most of the survivors say that there is nothing that can assure a life that is free of cancer. However, you can
bring certain changes in your lifestyle that can prevent cancer. Taking proper care of what goes inside your belly and certain things in
life can help you prevent cancer. You need to bring some changes to your lifestyle if you want to prevent cancer. One of the first things
that you should change in your life is the amount of alcohol and tobacco consumption. Drinking excessive alcohol can increase the risk of
different types of cancer that can affect oesophagus, mouth, and liver. It also affects larynx and pharynx and breast in females. Studies
have shown that men can consume two drinks per day to stay away from cancer. On the other hand, women need to consume one drink
per day to stay away from cancer. You should gradually reduce your alcohol consumption to one drink per week to one drink per month.
Chewing tobacco can also lead to oral and pancreatic cancer. You should avoid tobacco in all forms. If you passively smoke, you should
avoid it to reduce the risk of lung cancer. You should also start exercising. If your BMI or Body Mass Index is higher than usual, then
your chances of getting cancer are high. Kidneys and postmenopausal breasts are more to attain cancer if your BMI is high. Some
studies have proven that regular exercise can reduce the risk of breast, prostate, and kidney cancer. Regular exercise will reduce the risk
of getting cancer. Exercising will also help you maintain a healthy weight. You can take one hour from your busy day to exercise. You can
start with moderate and then with time move to more complicated physical activities. You should also eat more nutritious food.
According to several studies, eating processed meat in excess can make you prone to a few types of cancer. Some reports say that an
obese woman has a higher chance of getting cancer than a healthy woman. Men with increased levels of saturated fats are also more
prone to contract prostate cancer. That is why it is advisable to only consume saturated fat and red meat in moderate quantities. You
should include more nutritious food in your diet like fruits and green veggies. You can also add nuts and fish in your diet. You can eat it
by frying it in healthy olive oil. You should protect yourselves from harmful UV rays as it causes skin cancer. One of the most common
and most preventable types of cancer is skin cancer. Reduce going out when the sun is at its peak. If you have to go out in the hot sun,



then you must cover yourself as much as possible. Wear sunglasses that protect you from harmful UV rays. Apply sunscreens with an
SPF of 30 or more on your skin. You should also go for regular medical checkups. As it will diagnose cancer at an early stage.
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